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sq. root, (see Arith. p. 73.) But the subtrahend immediately
producing a remainder = ab + b», where b h the no. represent-
ed by the digit last obtained (thus far) in the root and a,
those previously obtained.

91. Between the sq. of the part of the root already found
and the no. whose sq. root is to be obtained.

92. Between the cube of the part of the root already found
and the no. whose cube root is to l>e obtained. See Arith.,
p. 77.

93. Disregarding the dec. pt., the first 6 digits in the root are
331662, i.e. the part of the root already found is 33166200000
( = a suppose) ; and if we denote the no. whose rt. is required
(11 and 20 O's) by N, the next complete rem. is N-a»(=a
317756 and 10 O's), and the next trial divisor is 2 a ( =
66332400000). Now if x denote the rest of the root («
47903), .-. N-(a4-x)», .% N-a» = 2 a x + x«, and we are
required to show that the rest of the root (x) may be obtained
by dividing 2 a x + x» by 2 a instead of continuing the ordinary

process. The quot. so obtained is x + x- which gives the re-
^a

x'
maining part of the root x provided h- is a proper fraction.

Now since x contains 5 digits and a, 11, .-. x' must always be

less than a. •*. k" " ^^^^ ^^^^ i- ^'^ *^is division by 2 a the

contracted method may of course be used and the whole
operation, retaining remainders only, is as follows:—(The
30974 under the divisor is the quotient in reversed order.
See Arith., p. 70.)
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